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Qe M2sZ2HX =4 500,000 7,200 492,800
401 Al HIZ 2018 500,000 7,200 492,800
01 A& HI 496,400 0 496,400
OgH Ne2sZ3HA x4 496,400
03 Al 2 THHI 3,600 7,200 A 3,600
OgH MHes3HX =4 3,600
=3 A &l 3,000 3,000 0
201 ¢4l 3,000 3,000 0
01 At 22l 3,000 3,000 0
O=s3HX 23 0IEAE E= 2 gX2al
1,000,000 *3H 2 3,000
s3HX FH(EX) 100,000 100,000 0
Xl 50,000
s 50,000
401 Al HI R 201 I 100,000 100,000 0
Xl 50,000
s 50,000
01 A& HI 100,000 100,000 0
O=3&X ZHl 100,000
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PRS- DS

B SRR MMM 2E
ol EXNSX oZel e (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 50,000
s 50,000
SAHXE 46,000 35,000 11,000
< 13,800
s 32,200
402 2I2HXHE01 M 46,000 35,000 11,000
< 13,800
s 32,200
02 QI EAISEZ (01X THS) 46,000 0 46,000
OSAJY SZMLAE 46,000
< 13,800
= 32,200
ng =48 otH 317,098 392,615 AT5,517
Xl 162,824
< 16,282
e 137,992
AMEIEO LXtelotA 317,098 392,615 AT5,517
Xl 162,824
< 16,282
e 137,992
S322 M 100,000 70,000 30,000
101 @124 Hl 100,000 70,000 30,000
04 JIZHHZ2XREE S 100,000 70,000 30,000
OZZ22AMY E0iX 22 100,000
AZIEDIY XI& 217,098 322,615 A 105,517
Xl 162,824
< 16,282
s 37,992
307 21201 A 217,098 322,615 A 105,517
Xl 162,824
< 16,282
[ia 37,992
02 QB AAFEX 217,098 322,615 A 105,517
OOClIEIAIZI H DY LIl & & ALY 217,098
X 162,824
= 16,282
s 37,992
HE2HAZH (XS ZHD) 39,192 39,000 192
Jl23&dl 39,192 39,000 192
AEZH Jl=3H 39,192 39,000 192
201 Let24d] 15,552 15,360 192
01 At 2teltl 15,552 15,360 192
Ol &t 12,441
OS&Hl SH& 3,11
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HEDNR=-R=: s an s
D HES2IAH (NS Z M)
:Jl23tl

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

202 Oddl 19,440 19,440

01 =LHOI I 19,440 19,440
Oz & 19,440

203 ¥R =&l 4,200 4,200

04 NS RFAH| 4,200 4,200
OXgdmHU FA2Y 4,200
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